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5] 90| 88
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a’+b% =1
a,b

U= ax+ by






O
‘U= xcos(d) + ysin(b)

V= Xcos(f) - ysin(o)




u =573.5




u =716.1




u =941.0
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a2 +b%+c?=1

a, b c

U=ax+by+cz
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sfzﬁZ(ui—u)Z:HZ(axi+byi+czi—ax—by—cz)2
= =

= a —Z(x| X) +b212(y| y)© +c* Z(Zi—z)2
i:1
+2ab—Z(>q —X)(Y; - V)+2bc—Z(yi -y)(z -2)
Nia izt

+ ZCaEZ (z —Z)(% —X)

= a’s;, +b%s] +cs +abs,, +bcs,, +cas,,

y yZ
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a?+b%+c?=1
a,b,c

s = a’s; +b’s; +c°sy +abs,, +bcs,, +cas,,



g(a,b,c)=0

f(a,b,c)
a,b,c

L(a,b,c,4)= f(a,b,c)—Ag(a,b,c)

L g o g2,
oa ob OC oA



g(a,b,c)=a’+b?+c-1
f(a,b,c) =a’s; +b”s) +c”sg
+ abs,, +bcs,, + cas,,
- L(ab,c, 1) =a’s; +b’s; +c°s]
+ abs,, + bcs,;, + cas,,

— A(a% +b? +c% 1)
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0="==25%a+2bs,, + 2cs,, — 2al,
o = 25+ 20S,y + 205,

oL, o
0=~ =25b+2as, + 205, - 201
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(X)

(y)

(2)

(V)

(W)

1 66 | 79 44 79 75
2 /5| 84 6l /6 82
3 59 | 65 D9 53 43
4 741 76 ol 69 6/
5 86 | /1 o/ 74 o0
6 87 | 92 o4 /1 81
/ /3 | 89 53 /1 ol
8 79 | 85 49 52 49
9 87| 73 04 82 97
10 88 | 87 /8 70 83




U=ax+by+cz+dv+ew

U= 0.298x+0.133y+ 0.237z+ 0.303v + 0.863w
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(X)

(Y)

(z)

(V)

(w)

1 66 [ 79 44 79 75 1129.27
2 /5| 84 6l 76 82 |[141.77
3 59 [ 65 D9 58 43 93.95
4 741 76 ol 69 o/ |122.98
5 86 | 71 o/ 74 50 [116.52
0 87 | 92 o4 /1 81 |142.38
/ /3 [ 89 53 /1 51 |111.68
8 79 85 49 52 49 [104.50
9 87 | 73 04 82 97 1159.36
10 88 | 87 /8 70 88 |153.44
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